A) Remove the sparkplug, find the TDC position with a dial indicator gauge or a caliper rule:
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B) Align the pickup with the beginning of the magnet on the rotor and measure the travel of the piston

with the caliper rule:




C) Use an online timing calculator to convert millimeters into degrees:

https://lambretta-images.com/tuningh/port-timing-calculators/degrees-to-mm-timing-calculator/
or

http://www.ajcshop.fr/Calculettes/html/calculette-convertisseur-allumage.htm

ie:

Soke = b S
Bome = T2,52rmm
Rod length = 104 Tmm



https://lambretta-images.com/tuningh/port-timing-calculators/degrees-to-mm-timing-calculator/
http://www.ajcshop.fr/Calculettes/html/calculette-convertisseur-allumage.htm

